Efficiency vs P,

- 02
o
20.18F---

=~ F :
2 0.1BF - rrrrirrereeeeees R RRREREEE o R
9] F : :
o - . .
E 0.14F - --rrirrrrerreeees AR I
[} r . H
0.12F - freeierernenees RCTIROE & 0 R
5 NSO U — S -
0.08F -+ {t-{-[- Beeeeeiens L0 PR
0.06F - HHHf [+ R & 2L R
0.04F A1 Beeeeeiens L0 PR
0.02F - ) DR 3 R
o +Wr : :
IS r : :
o [
1_— ----- =Y =5 R T

10

. Gedf’

—=#— DQM_CKF_XiMinusNOPU_base
—— DQM_CKF_XiMinusNOPU_retrainOldFiles125_v2_prelimWPM_epochO

c 0.1
2
20.09
2
£0.08
o
£0.07
(]
0.06
0.05
0.04
0.03
0.02
0.01

..........

..........

..........

.....

.....

.....

.......

........

........

........

...........

...........

...........

Vs

Ratio

0.95

H
T

Efficiency vs ¢

o 0.21

@ C : : : : :
o St Bt i

2 E: : : : : :
R AL S S
£0.14p-------
o :
0.12F-+--ob-
0.0F e
0.08F-------
0.06F -4
0.04F------1
0.02F -1

...........

...........

..........

1.0

Ratio




	Contents
	Page 1


